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1. A 4.3 x 10 M solution of a weak acid has a pH = 4.92. What is the K, of this acid?

34 % 107
5.6 x 10°
1.2 %107
2.8x10™
52 %107

MY 0w

2. Identify the conjugate acid/conjugate base pairs in the reaction
NH} + 8* NH, -+ HS.

A. NH;/S* and NHy/HS
B. NH,/NH; and S>/HS
C. S*/NH; and S*>/HS"
D. NH,"/NH; and NH3/S*
E. S*/HS and S*/NH;

3. What is the pKy of a 6.84 x 10™* M solution of KOCN?

3.46
6.85
10.54
3.3
7.14

SISReY- s

4. Identify each of the following salts as acidic, basic, or neutral, respectively.
K2C03, CH3NH3BI‘, KNO3

basic, basic, acidic
neutral, basic, neutral
acidic, acidic, basic
basic, acidic, neutral
neutral, neutral, acidic

MoQwWy

5. Calculate the ?quilibrium concentration of H' in a 4.35 x 10° M weak acid solution with a
K.=6.7x 10

5.40 x 10™
1.03 x 10°®
4.35x 102
2.91 x 107
1.54 x 10

HO QW
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